Year 4 Summer Multiplication and Division Colouring Challenge

Solve the calculations to reveal the hidden picture. Each answer has a special colour.

yellow = 1 -6 |blue = 7 - 30 red = 31 - 60 green = 61 - 90 |black = 91 - 144
21+3|(35+5 | 5=5 | 81+9 | 4=7 [NMO+1M|99+9|63+9 | 5=4 |3 =10 [108+9
3=9 |32+4 | B8=12 | M=10|36+3 8=3 |12=7 | 8=8 |6=12|10=7| T=9
3=7 | 9=x1 |56+7| 2=8 |12=12|36+3 | B=M (96+8|B4+T|56+8| B8=9
1W0=10| 6=5 |T2+9 |96+ 8| 8=2 |[12=10|12=6|9=9 | =7 | T=11 | 9=8
9x12 |49 + 7| B=x2 [ 4=5 | &=4 [ =11| 5=x4 |36+3|6=x11|T2+90 (9% +8
%9 | B=T7 | &=9 | T=8 | 6=7 | 7T=7 | 2=8 |9 +8|7=12| 8=3 [ 4=5
3x3 | T=7 | 9x4 | 5= | 11=5 | 4&=7 [1M0+11|99+9 | T=x9 |&49+7| B=x3
15+3 | T=7 [12=4 (1225 |12=3|15+3 |12=x6|9=9 | =T (T=11 (9=8
2+8|M=5| &4&=9 | T=x8 | T=ph ([32+8|12=7 | 8=8 |6=12|10=7 | T=9
EE+M| T=T7 |12x&4 | T=6 | 4=9 (16+8 [12+3|12=x6| 9=9 | 9=7 |16+ 8
8+4 |2B+T7|36+6|35+T|M+M|[32+8|16+8B|16+4|32+8| 1=4 (24+8




